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Time

‘Reg. No

v Semester B. Com Degree Examlnatlon, September 2020
: | FINANCIAL MANAGEMENT - :
Fundamenta[s of Fmancxal Management

(Repeaters / Regular)

: 3 Hours . o . _J ‘, | ' 'Maximﬁm Marks:S_O _

Instructions to Candidates:

_ Anewer all the Sections according fo internal choices.

N
eoéaﬁ Bodori@ﬁ 3503 D) awﬁﬁ@ﬁ wéafua
2) Use of sunple Calculatorlsallowed o
| RO 53, QBT LBTED SRS, .
3) * Section-D Case study question is Compulsory.
o RN - @ K300 &g ol 3 05meNng.
4)  Copying of any kind is strictly prohibited. . ‘ .
- cEnRde 50T S WRAEDTT), SREPVUONT.
SECHON-A |
- &)z;mri - & , . .
1. Answer any TEN: of the following: S (10x2=20)
B SONRRNN, Bes 338 sugond. | | I |
~a)  What do you mean by Financial management ?
L BromRd IFBE oondeD 9
- jb_)' 'What is proﬁt_ maximization ?
’ : oy ﬁﬁ&éﬁdsa 2ordemd ‘?‘
: ¢} What do’ you mean by Capltahzatlon ?
: uozﬁm@eidsa aocsdezc‘o ?
d) Define capl_tal st:ructure.

L WoRmY dzsﬁo.b 'mdsjgs S’Je_@é. '

[TO.
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o)

g)_

.

B

)

‘Name the theories of Capitalization.

What is tradmg on thlck equlty ?

@ B aﬁwﬁbﬁo_ﬁdoaﬂdeﬁa ?

| WORTEEETRE ATOBAYR), BHORD.

What is sunk capital ? .

BB NLE Tty wocﬁm@é @ocﬁﬁeab 9

What do yeu ‘mean by spec1ﬁc cost of capltal '7’ _

@C)F% w.oz:ém@ ﬁzgd aocﬂdeab 9

What 1s netiivorkfng capital ?

| REY cHRROR OB 0T3O 7

Write any two beneﬁts of adequate workmg capltal
AT R0 uoc@m@éd cingte V0@ B,03ReRS mdo@oﬁ _
Find out the amount of capltahzatlon if the earnmgs are Rs 2 50,000 and the

- average. rate of return is 25%.

nedado gr. 2,50,000 ﬁ@émo 5333 BooRD 108 d’d@ Be. 25 O'mo °&C$E3 moﬁﬁ@eﬁdt‘

g ﬁocéaao@oi’nﬁ

ABC Co. issues 2000- 10% preference shares of Rs. 100 each at Rs.95,

redeemable at énd of 10™ year from the year of issue.. Calculate the cost of

preference share capital. .

% gomRckn de. 100 S0 WS Fe. 10-2000 37, Fedonivay e, 95

oeg, 10 de“ﬁ%? RQjexie) &ooeadodww e«déﬁ Boed EDG?B@ TRAT. mmdd 72,3,
éedaﬁ@ ﬁza‘ﬁssa IBR0. : :

SECTION'—B
&)zpari S

* Answer any THREE of the followmg - o (3x5=15)
| 3 SNERYY, Yems :mea Cu3080. B .

Critically explam the wealth maximization as the objectlve of ﬁnanelal management '

a’samﬁ awras@oda emcSeeidodJ O[S ﬁ@ec%eﬁdeadm é:}émméamﬁ awma
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3. Explain the various types of working capital.
aoéazs w'@dd cfo@odoaw uodm@éﬁfjm aadana@

4, Acharya Co. Lud provndes the followmg data and asks you to calculate (1) Operatmg'
' Leverage (i) Fman(:lal Leverage and (111) Composr[e Leverage. :

Its sales are 10,000 units @ Rs.60 per unit, the varlable costs are 60% of sales, the
~ fixed costs are Rs.1,80, 000 and has bonds of Rs.2,00,000 @ 10% interest.

| emodr 30.0.53 & WA SRscom, Bed, (i) 5030F 38 XS, (11) Beowond e, D%
‘(i) ,-ooocbo'a’ ,qéorbcfo 6&»3&03 ée@cﬂ : :

dr. 60 ®,38 ol zsacsoe 10 000 cdw&)&s‘ﬁq#mo mma STTE), ae 60 o
BRI 3, AT aas 3. 180 000 R 3e. 10 o tira 2,00,000 nig), moaﬁﬁ@m
2RODT.

5. Ajay Co. Ltd has issued 1000 debentures of Rs. 100/— each carrying 10% interest. The
- .apphcable tax rate bemg 35%. You are required to calculate the cost of debt if they'
are issued at (a) Par (b) 10% Prennum and (c) 5% Discount. -

esrdezs BomRoD Je. 10.T m@o‘boé dra 100 o 1000 o3, ri@ém QeRT. eacm,ew
- 3or ooy Be. 35 dwd uocb de@ﬁ f&@ﬁ%ﬁﬁ) (a) =00 e (b) se 10 a‘aﬁasa ATaTa)
: ma: (c) de. 5 T Bned zﬂeﬁﬁ aeamdd WOT, N eﬁwwm ggro.

6. From the given 1nformat1on you are reqmred to find out the NPV of the investment
project: ‘
i) Project Cost 'i's Rs.5,00,000
- Ciy It generates cashinflows for 5 years as: , |
. Ist Year - Rs90,000 4thYear Rszsoooo
2nd Year - Rs.1,25000 . 5th Year - Rs.2,00, ooo-

._3rAd Year - Rs.3,00,000

iii) ‘The PV .‘factors @12% dlscount rate are: _ o
st Year - 0.893 B ~ 4th Year - 0636
2nd Year - 0.797 - Sth Year - 0.568
3rd Year - 0712 R | |




" (a) Rs.1,20,000 ®) RslﬁOGOO and (¢) Rs.2,00,000

seauprionsesmase  NUMNNINNEIIINE RN

3 g9na m-aoa-moa Bradad BB dn¥ ':ac:sécs" FPO,RR, eaﬁé.,e.
i) apug S, de. 500000 o :
i) am o S e ancsa wmwm oeid aem@sd
BED IIE - aR. 90,000 moéeoda ST - da. 250 000
| Q20 SR - Bn.. 1250000 - weded SEF - e 2,00,000
'3 aeob 3@2? - oR. 3 00 000 |

i) Se. 12 O Ape comed AT RPOT S0I WS

pomse w‘eﬁs’-—"{)’.SQS _ - Ysed SR - . 0.636 |
oOddod SRe - 0797 - wokcd S - 0.568
SRdSoD. IRF '-'0‘.7,12“”' o : |
R SECTIONC
_ éi)epaﬁ - ﬁ _ |
. 'Answer any TWO of the followmg ' o S . (2><15=30)

:é& se;nmrwe odnecde adc«?ﬁ eméa-oe

Deﬁne over capltahzation Expla.m 1ts causes and effects on various parties

EN woﬁﬁ@eﬁdwcﬂ mai’ DeR0. edd mﬁs‘aﬁe}ab méa mqs ﬁémdd ﬁoe@ﬁ

: w@ﬁamﬁ@& amne

Abhmandan Co Ltd prmndes data extracted from its statement of Assets and
liabilities. X "

*4000 Equity shares of Rs: 100 each . '_ Rs.fi_,O_0,00'O )
.*Reserves.a.nd Funds E T ) R$.4;-00,000'_ :
" '*Share Premlum | D .. 7 Rs.1,00,000.
*Current Llablhtxes o © Rs.1.00 000
o - 10.00,000

’ The nermal rate of return in similar mdustry is 20%. Determme the capltahzatlon

status of the Company if the eammgs available to equity shareholders are;-

+*
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| ITOTI 50».:20 3}013&)33@ 35 e:m am &ammaﬁmﬁ 3&30@30:5 e:rodn woaﬁrﬁeéeda =
- ENT03 QeRE. : .

o *dra 100 o 4{)00 éa&w Seconed
- RQoeReD m@:’ a@ﬁq;b
*Bedo _@e&)qﬁ;&ﬁj‘ |
%240 BosmosRD

dra 4,00,000
~dn. 4,00,000
- dr. 1,00,000
ge. 100 1.00.000

| ms% 10.00.000

- ] wide OB w@a”aoﬁaeﬁ RORID, NPT dd@ 3. 20 o, fadoddo &;OCSJ Eﬁe@é’ B3 ﬁo@ué’ood) .
Bae3 éed)md@ﬁ O, T ﬁ@ﬂoﬁw (a). oR. 1,20, 000 (b) on. 1,60,000 =o=2
(c) aw. 2,00, 000 ﬁ%ﬁdd ﬁoeuE'OOfD moﬁﬁ@eﬁdeazs ‘?5 ﬁowoéoﬁoma '

9. The followmg data are furnished by Gmsh Growih c@ .
Spemﬁc Cost |

: Soutces of Capltal - Book Value Market Value e
o _ BeforeTax
Equity Capital Rs.2,50,000 - Rs.5, oo 000 24%_. -
Preference Capital  Rs.1,00,000 © Rs1,50,000 . 20%
10% Debentures  .Rs.500000  Rs6,50000 .o'%'_ |
Retamed Eammgs : Rs.1 ,50, 000 e .18%

You are requlred to calculatc Welghted average cost of capltal usmg both. Book value
welghts and ‘Market value ‘weights. The tax rate apphcable is 40%.

noes ﬂmeqs‘ ﬁcﬁ&oﬂw é% ﬁe;‘ﬁﬁ a‘dméoé 3)@1333:3

| ommYE Soeund | e@ﬂﬁcs P, won, aPy, 3ot a’mozé. |
IR e RN mmﬁzs
2wy wogwy m%ﬁﬂﬂﬂﬂ o, smmﬁ;f_; e 4%
MY, womme : o de. 100000 de. 1,50,000 [ _"20%'
s 10- mosgmo  do, 5-00000'_'_-;1;;.6,,50,900 10%
7 m%émo@cbaﬂ sy Lo de. 1500000 e 18%

@Nﬁ 5330 nesy W3- mdbﬁaé 5333@ ﬁ%“m Smﬁd tﬁmdmf\ SEEES AUIND -
5?33&3 e?ﬁmab @50&3»&5 é‘éﬁ dd@ ée 40 dmhd |

[PTO.
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Poornlma Products Ltd prov1des the folIowmg details:
Materlals-40%, Dlrect Labour 20% and overhead - 20%

~ The other information are:.

i) It is proposed to mamtam a. level of act1v1ty of 20,000 umts

- ii)  Selling pr1ce Rs. 12 per unit.

iii) Raw materials are expected to remain in stores for an average penod of one__
_ month '

iv) Work in progress will be for an average perlod of half a month

V). leshed goods are. requlred to be in store for an average penod of one month

i) Credit allowed to debtors is two months N

i) Credit allowed to credltors is one month.

- Vi) Allow 10% for contmgenmes

You are requlred to compute the working cap1tal needed.

Fpedran e, O. T NI &Dadmﬁz&) ‘Eoedoa’d mzﬁaﬁ nh Je. 40 ﬁed 39 Be. 20

- =B aﬁaeméé 5323 Je. 20

-‘aabem OFORTOTS
i) 20,000 omow S8R zsésaa:ias@ AR ey'od&)cﬁ.

i B chope Bnoow B oo, 12 addd.
i) 823, mROA,RD 02RO 1 aomb e, mcso POVOROT.

i) B Rechams 28, ,oca,qe G Soniso A0S, |
V) A, fo%one> BT, B0 RooR0 1 oried OPOITS,
vi) quBd Mo®ION 2 sons o0, VBRIST.

vu) FoOnco 1 &ori@ﬁ o0, DecsT.

v111) foozp‘a:-:s mmm@ﬁﬁ@ﬁ 3e. 10 dﬁ) @O&)@N@
-‘a@ﬁ@émqﬁ&u wwas ébdm oBOI0= mocﬁm@;’aﬂcﬁa eiéfeo
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SECTION-D

. i - B | .
Case"Study_- Compulsory Question'_ . oo | ..('1'x1_5.=15) '

=808 eqﬁ DT, - TR0 TF.

" Vishwanath Co Lid. wants 10 set up a new factory at an ‘investment of Rs. 25 00 000 .

in Belagdw This new. factory is expected to yield EBIT of Rs.5, 00 000

In order to maximisc its EPS, St con31der1ng the following altematlve proposals |

-~

i) 10% debt of Rs.5, 00 000 and remalnmg in equity shares. _

i) 15% debt of Rs 7,50, 000 and remaining in equlty shares

iii) 20% debt of Rs.10,00,000 and remaining in equity shares. |

The equlty shares shall be of Rs.100 each. The company is in- 40% tax bracket

You are requlred to suggest the best proposal based on EPS in each case.

o s:as@aazs 30TR RODAIT WIRADHE, 200> BET PFODI IR, 25,00,000 Heo

domn;@z%noécﬁ B BeS PLEY W& 5333 3on mozaas ﬁ@@oi)odo gn. 5 00, 000
r@:?b NECSJSES :

SInY! 35 wé Feon ﬁ@ﬁ&'bd) ﬁa%ﬁdr‘ﬁaﬁ =T 3@?\5 de)Df-'OdDﬁ w‘?&ﬂiﬁﬁ%ﬂ&
w@ﬁt’cﬁf@écﬁ :

1) de. 5,00, 000 - Ze. 10 © PO 202D em@.;"CSC)‘J é%&w SeToneos wtécxbodcb

i) R 750,000 - Ze. 15 O Mo w) eoeich I Secbriees SECID.
i) de. 10,00, 000 - 3e. 20 WO Ty CVETKI, 3883 Becorieons TECIHOBCD.
| Baga3 Bty 5o T Beorf . 100 NI, 81 FosRo%w Je. 40 T 07 BoIBYS.

PR R

B2 ImBIDOR BIOR NeBLTTOn, eUBRmE BRI A, JoE Read.
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IV Semmter B. Com 3 Degree Examination September 2020

MOI)ERN BUSINESS LAW
, (Re-gular and Repeaters)

3Hours = o L _- | MaiimilinMarkS:SD

Instructions to Candldates "

1. Support your answers wrth secuon numbers cases and examples. -
ey, ema’drﬁ*ﬁ) 300 S0LT, &, =, 80eried 23y mmﬁdwﬁﬁ@o«ﬁﬁ ?.302.)@.—0@

- 2. Allquestions are compulsory cxccpt mternal chmce

50308 ©503), BRTDTR o), @éj{ﬁ_@a ﬁza%ojamnﬁ.

' SECTION - A
o')mﬁ - &

1. Answer any TEN of the following in one or two sentences each. (18X2'=20)
| 3OS Dewon B34, .050@ YNV, IR0, |

;N
)
o

@

Deﬁné a' contract.

©OT wdcs m&i Reao.

What do you mean by lcgallty of objcct ?

BT BN ﬁamﬁmdé HOTSe 2 _

Give thc meaning of discharge by operation of law : :
aama; ﬂodnrwdﬁoda e IBOTIE &)fmré rae] ST Tt AR 0} S De@ﬁ
What do you understand by 'the -term quas1 contracts ?

A uwocsﬁeé'ocsd Foz3e t—azﬁf‘ﬁn@ﬁm&béea 9
“Who is Indemmﬁer ?

ﬁ‘wbaaadﬁéodﬁ a2

_ Define contract of guarantee

asa;)aeabm@@ 20 oc:ScS 9, :6 c"oeaa

[P.TO.
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-g) Who is a. ballcc ?
'-Dﬁeaﬁécdd ocmoa 92 _ ,
h) - What do you mean by Chief Information Commissioner ? .
| Ds Bnkd sangdond DREF 2
i) What do 'you mean By Public Authority ?
| s m0mT G50 eEramts 4.
| j)  Give the meaning of addressee under cyber law .
200 FRARS Clzleveu ) 2 a%ﬁ oS wdodwszsodd cd)ada ?
k) What is meant by computer resource 7
| rimseog, RoTsqe ads eprd 7.
) . Give the meaning digital signature.
 Reosed3 BwE0 AE0 STF ReAD.

_ SECTION - B
ot - w - |
Answer ggy THREE of the followmg R S (35<5=15)
SUNRYriert Leson3 MO V30RO, | |
2.  Write a brief note on contracts made w1thout consnderatton. ‘
B SFoNYT maafwmamw zowodrt@é R0 2,083) @u,_".YD éswsé udmoo
3. Explain the persons who are disqualified from contracting by any other laws
%8 BRIV SAAbY, LH0T SREERYLL IBCTE T B0 2800.
' 4, Write a brief note on “types of mlstake of law. _
- RIS W 3T LIPS BT B0 B0B TodTN 280300 o
5. Distinguish between -_mdcmnity_'and gua_rantee. e
HFOTIC ey WRVROTED LHOTNRY FES FFANURY- wFWE.
6.  Write a brief note on exemption from disclosure of information. .
Rk WHIONTAHRHE0T HTOS BE0 BB FosTTN WD,
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10.

11,

SECTION - C
opon - 8

 Answer any TWO of the following: .  (2x15=30)

FNIJYron  Bews addi YVZORD.

Define an agreement and explain the essentlals of a valid contract.
WROWEE TR D35, VRO T nonFe uwodd SORA tsoaim?m DO0.
Explain the agrcemcnt dcciarcd void under- Indlan Contract Act 1872.

1872 @ gRT3ecDd LTOT e:s@?ao:bwatzi e:a@o:bé’) e&mﬁrédom ATV, mﬁow@éﬁ@m
 QEE0R0.

Define ballmcnt contract. Explam the duties and rlghts of bailee under the Act
bﬁewm LEOTT 59,35, QeR0 ab& mmaﬁéodacf) Ebéewéﬁ a’ﬁo a0 335-'53 Ny, -

_ eﬁﬁﬁm@
~ Explain in detail the kinds of cyber crimes.

n;uo’ e:awcaan’@é wzs'adm*m TR ToN RORD.
SECTION - ])

wgen - @ - , . S
Case study analyms (compulsory question) (3><5=15)'

| TF0 Vol HIRES (Imod TI) -

a) Alu sclls ‘his car to Lalu knowmg fully well that the car-englne was
' defective. Alu does not disclose this defect to Lalu. Is the sale” valid ?

503 od:o:a’ cﬂmeaﬁp@amﬂcﬁm TpeeF DONTER, B BF @UKD oeort &RthEd.
00 "adm cpaRAN woon wﬁm@@o amr.;és zowod m&ra’mhzﬁo&:e ?

' b) Paru boxrows Rs.50,000 from Ari, Naru and Garu On the due date, Paru

" repays the amount to Aru who accept it. Is Paru discharged from = his.
liability ?

e, S0 R RO 8RTNPOR md: QiRaooty 50,000 ﬁ% AoeEsHn TWrdod0os.
- BogdS OBI Gt W msa:m VTS a‘n‘azﬁsa'aﬁ B¢, W 33
a”:aﬁma%oaood DRVTTT TSR ‘? o3 a0.
¢) ‘Sarangi agree to pay Rs 10,000 to Barangl if Barang1 beats Narangl Barangf
- beats Narangi. Sarangi refuses to pay Rs.10,000 to Barangi. Can Barangl
approach the court to recover agreed amount ?- Comment.
tPCoA BaSonR wBSY, wedond dw. 10,000 BRBEwW TWTON LRYTY. ©E003
WRCoN mdohod:ab BRI, LRCONT T, BI) F0T FRBL ToToN ad:gaﬁo@ei -
Ltd Eeo SRR mCseo WITON o) od:ac)o:bd ses TIWBOTI? 2’06% €320339, 03>
zoea. _ _
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IV Semester B.Com. 3 Degree Examination, September - 2020

CORPORATE ACCOUNTING-II
(Regular)

Time : 3 Hours Maximum Marks : 8¢
Instructions to Candidates:

1.  Attempt all Sections according to internal choice.
50808 &503) T,T0 DU, RN LU0,

2. Simple and non-programmable calculators are allowed.
ROY BooSReRROINT Neagodd0g, B, e0HodReNRIBITD.

3. Give working notes wherever necessary.

E3SIEINTTY, YUZTT gonason VeD.

SECTION-A
AMPR - ©
1. Answer any ten of the following. | (10x2=20)
NS Wezol B TINwrl VBDAD.
a) What are the types of amalgamation as per AS-14 ?
AS-14 0o DOeITTE TFoONTIY SPRD.
b) State the four methods of calculation of purchase price.
00eD RoLRBI FOWLBOINT HE, F,FONYSY S9A0.
¢) What is meant by amalgamation in nature of merger ?
BRBINT STOTR FOTN0H NDTTD Q0T 7
d) What is Purchase consideration ?
DD BTS00 7
e) What is Internal Reconstruction ?
50308 PO eI wordesd 7
f) What is the journal entry when creditors sacrifice part of their due ?

WOR IR WONeRE IRG RO WRNST, N @RATNS, Gred FFES
DGO, NeRD.

[PTO.
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: g) - What is forensic accounting ?
B aazsofb wéasa:mdm’ FI0L3OIT DOV 2
~h)  What is creative accounting ?
o - R umdd oL 20TBERD 2
i) :State the two advantages of creative accounting.
 Rwaeds wPoHITT a0R B0dRes SYAD.
j) - What is holding company ?
@S0 30DR 0wt ?
k) What s M_inority Interest ?
_ k e:ﬁegdﬁoms@ Betomodd Q0Tdey 2
1)  What is wholly owned Subsidiary company ?

. ~owpsas' SRdEZ. SRET FOTINCOT> ?

SECTION-B
Tt - W

Answer any three of the following.
tdegor TR Z[ZNen Hv300.
2. Explain the need for forensic accounting.
méoﬂa B, [T0R ei'ﬁtﬁ%éa'b €533, BENVTY, D[OAD.
3.  Explain the methods of creative accounting.
foz:smie ﬁﬁaowon‘d a@aim*ab 2OAD.

4. Happy Co. Ltd. decided to go for internal reconstructlon which was approved by the |
Court The Scheme of reconstruction is as follows: '

R, BROCDT SRIII0303 Ty BOTR D0LE 50808 @56@&36 wazzt:o SDqSFDNd
esoéaﬁ VT IO am@ By gINDoZ AT, '

100,000 Equity Shares of Rs.10 each fully paid be reduced to Rs.3 per share

a)

b)

as fully paxd

I

(3><5=15)

100 000 Tw. 10 d TRV ROTROTRT  FDRIT, ﬁedomfm oR: 3 % GRA TRAF

~omodac§ ei’edm@od: ZONEIRITTI0.

20 000 preference shares of Rs.100 each fully paid reduced to Rs 80 per share.
20 000 dr. 100 T3 qasamomodamd AR A 366071653'0 dn. 80 ﬂ QPN GpaF

. -Nomocsz Ei’edoﬁ@oda 2OnedROS .
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c) Reductlon amount of Share Capital is utilised to ‘write off accumulated loss
balance of Rs.3,60,000/-, preliminary expenses Rs 1,00,000/- and balance is:
used to write off the patents. )

Pass the journal cntncs to give effect to the. Schcmc of reoonstrﬂction"' :
Fecorive) smsReoAT BomRy S Ocdodnn evsodsenKie. . 3,60,000%
Mm\so ToQODIY, Jried mﬁex: Dpesrped &Y, de. 1,00, 000/— Eama em@ci
OUoEL maﬂa ”6:5&‘0 FRORAYReD umodrens aj"eﬁo '
$0307 PST PLS WodrevRen dmez:o ma)dﬁ%a WB0WD.

5. Aravind Ltd. agreed to take over the business of Bharat Ltd. The Share capital of

: Bharat Ltd. consists of 9000 equity shares of Rs.100 each fully paid and 4500 10%

preference shares of Rs.100 each fully paid. The Debentures are 12000 of Rs.100
~each. = ' '

Aravind Ltd has agreed as under:

580008 70.9.8) 03 30.O. FoTOD 35@66& éﬁc:’oﬁ.ra@w LT, POZ FOTICDL
- Feth worsR) Se. 100 T Jpser P masm 5@:1%% ge. 100

TPeF Moo 4500 10% 8%, Becdrvsy, mﬁﬁrao&d. de. 100 © 12000

ROTI, N 3.

ST FOTIOLD B3 FHNT ITOONDN 2.LBRORT.

a) To issue 6 preference shares of Rs.100 each for every 8 preference sharcs in
Bharat Ltd.

| 4003 somRaDh B3 8wy, Fecror oe. 100 sHoDESH 6 W3, Ekcbﬁ@éaigt |
REBTRD. |

b) To issue mortgage debentures in Bharat Ltd. which are to be redeemed at a
' premium of 20% :

03 FomRoh WOTZTER, 20% &R00H0R, TR AP,

¢) To issue 5 equity shares of Rs.100 each at the-market value of Rs.120/- each
- in cXChange for every 4 equity shares held in Bharat Ltd. '

o028 FOWICH X,8 4 ‘?Mﬁ E"ed)ri@ﬁ ejde‘bod ﬁoe.a’obodo or. 100 SoDBSed
5 BT, JeANTRY, a’nad)ﬁt:? BS0InT Te. 120 To3 BT,

d) = To pay cash of Rs.25/- per equity share.
Calculate purchase consideration.

.wé "QﬁDé seconen dra 25 003 INTH d.fa“"d@ E)ecSaadJ
'_ soaec‘:) domﬁodagigt BOEI&GRONND.

[P.T.O.
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6. TFrom the following informatiom, prepare majority and minority interest chart

Particulars

Share Capital of Rs.10 each
Reserve on 1-4-2018
Profit on 1-4-2018

Total Reserve on 31—3-2019m_ "

Total profit on 31-3-2019

.- Holding Co.

Rs.
1,00,000
3,000
2,000
8,000
4,000

Subsidiarv Co.

Rs.
50,000
3,000
2,500
10,000
8,000

Holding Co. bought 80% of shares of Subsidiary Co. on 1-4-2018 at Rs.15 each.
TR B, H=ong et Ded v Tone @R BedTT0T BRSO T,

#1

BC3R0AD.
DTTTED - BredoR 3o BBODO 0.
3R aR.
Fed> 2oy SR.10 8o 1,00,000 50,000
muRE, A0 1-4-2018 § 3,000 | 3,000
oord 1-4-2018 8 o 2,000 2,500
Wi, RN, Y 31-3-2019 8,000 10,000
wi, oo 0. 31-3-2019 4,000 8,000

sBeedon BORHICID BB RCDOOD 80% BeTong womE dr. 13 ged O. 1-4-2018
Do DLRTIAT. :
SECTION-C
dypn - F
Answer any two of the following.
e QOEE  u30AD.
Sury Ltd and Chandra Ltd decided to amalgamate their business and form a new

company called Arunoday Ltd. which will take over all the assets and liabilities of
both the companies on the basis of the following balance sheets as on 31-3-2018.

(2x15=30)

Particulars Note  Sury Ltd, Chandra Ltd.
No. Rs. - Rs.
[. Equity and Liabilities:
1.  Shareholders Funds
Share Capital (Rs.100 each) - 6,00,000 12,00,000
Reserve and Surplus 1 3.00,000 1,806,000
2. Current liabilities:
Trade payable: Creditors --- 3,00,000 2,40,000
Total 12.00,000 16,20,000




R A SO &)

I.  Assets:

1. Non-Current Assets:
Tangible fixed assets :
Machinery
Intangible fixed assets

2. Current Assets :
Inventories {stock)

Trade receivable (Debtors)
Cash and Cash equivalents :
Cash

Notes to Balance Sheet -

Note No.l Reserve & Surplus:
General Reserve
P&L A/c (Surplus)
Total

Note No.2 Intangible Fixed Assets:
Goodwill
Patents
Total

Following are the terms of agreement :

--- 5,40,000

2 3,30,000

2,10,000
90,000
30,000

12.00,000

Sury Ltd.
Rs.

1,80,000
1,20,000

3,00,000

1,80,000
1,50,000

3,30,000

36423/D230

6,00,000
1,20,000

4,820,000
3,60,000
60,000

16,20,000

Chandra Lid.
Rs.

1,20,000
60,000
1,80,000

1,20,000

1,20,000

a)  The purchase consideration of Sury Ltd. is agreed at Rs.9,60,000/- payable in

fully paid shares of Rs.10 each.

b) The purchase consideration of Chandra Ltd. is agreed for an exchange of 12
shares of Rs.10 each fully paid in Arunoday Ltd. for every share in the Chandra

Ltd.

Prepare the Amalgamated Balance Sheet as on 31-3-2018.

AROLE O. 3o Bor, O. 3 BTB0SH) ORRRPHW IPFOART. T B

LT wiInlnlevs) eD.aigt @dom%m%d. B3 FUNT wEed eIy 8Tess @Hoed e;edo"?ea:aedcm

9. 8 DOT ATBER FoTNY DY, BATMOT 0D BANTY, Irchdeord Eemdd.
DTORTL . wEs Tosd, meodhr O

1. 3edd woremes morin [ODIADIS LR
1. ZBetoroos 3 (Fow):
a) Feg> wodmey (0n.100 Z8 Jeor)
b) oezen e B ooy
2. w9 BILRONL
EnREleros W, TR0 LD (RREOTITTO)

AR EY]
o]

on.

--- 6,00,000
1 3,00,000

--- 3,00,000
12,00,000

o, O,
o,

12,00,000
1,80,000

2,40,000
16,20,000

[P.T.O.

—— ]
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H.. SANRD:
1 asaegcfm;p SATILO:! : _
- feess AooaBn: -t 540,000 6,00,000
(odode,ezE0em)

oot amapte: 2 330,000 1,20,000

20 9 eans: _ _ _ _
oD (RO 31 2,10,000 4,80,000
10T TR0 1L (FOTETT) 90,000 3,60,000
A e INHE AR | 30,000 60,000
(Sricd) 12,00,000 16.20,000

e T8 30d DL
1) SO T ooy | _ _
famas B : - 1,80,000 1,20,000

em;f B 5, mé(oaz;!) - 1,20,000 - 60,000

2) enreeds wand: _ . S |
sesreiPy, o 1,80,000 120,000

| RT AR 1,50,000
= 73,30,000 -1,20,000

L BonRED Bothned 8 F9NIe2 .

a) ARobr O. T Doed Nozpaaﬁo:bo gn. 9,60,000/- (@s*ar Nomodamzs =8 éeaﬁ
gn. 10 QeTI) -

b) zsocs 0.3 Doed RoweRdadn, ¥ew, 9.0 =8 eon SDRRTOD  O.3 12
Bedoneb (de. 10 T3 Jeon) -

- B gomod 31-3-2018 T oS 8,50, ZodRdAD. |
8. The followmg is the balance sheet of Mayur Ltd as on 31 3-2015: '

Particulars Notes - Rs.
I'  Equity and liabilities: S : .
Shareholders fund : Share capital 1 1,50,000
. o Reserve & Surplus 2 15,000
Non-Current Liabilities 3 - 81,000
Current liabilities (Creditors) . - 15,750

Total 2,61,750
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I - Assets;
Non-Current Assets:
Tangible Fixed assets 4 1,56,750
Intangible Fixed Assets (Goodwill) -~ 22,500
Non-current investments -- - 7,500
-Current Assets: _
Inventories (stock) -~ 37,500
- Trade Receivables (Debtors) -- - 22,500
Cash & Cash equivalent - 15,000

Total 2.61,750

Notes to account
Note No.1 Share capital: 7500 shares of Rs.20 Each fuily pald .

1 50 ,000

Note No.2 Reserve and Surplus: Insurance Fund 2,25_0
Accident compensation ' 5,250
Profit and Loss Account (Surplus) - 17,500

Total - 15,000
Note No.3 Non Current liabilities: Long term borrowing: =
6% Debentures - 45,000

8% Debentures 30,000
Provident Fund 6,000
o Total ' 81,000
Note No.4 Tanglble Fixed assets: : :
Buildings _ 60,000
Machinery 90,000
Furnitures D 6,750
Total - 1,56,750

' Mayur Ltd is absorbed by Manju Ltd on the above date, the con51derat10n belng the
- taking over of the liabilities, the payment of 6% debentures at a premium of 10%; _
- the discharge of 8% debentures at a premium of 10% by the issue of 9% mortgage
debentures in the Manju Ltd and payment of Rs.10 per share in cash and exchange
- of 3 fully paid Rs.10 per share in the Manju Ltd. at the market prlce of Rs.12 per !
share for every 2 shares in Mayur Ltd. :
Calculate purchase consideration and prepare realisation A/c, Purchasmg Company
account, sharcholders account in the books of Mayur Ltd.
Amalgamatlon 1s in nature of purchase.

[PT.O.
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ot O ©RT wEes BT D0 31-3-2015 Jomd 8 NS 1T,
QT ¥Ze oo, - de.
1 Beoh WOBEY Tone TIRT OTED:

1) Beqomous Iea:

a) e W 1 1,50,000
b) Ap T wvgintd 2 15,000
2) WY oo Bemmoine: 3 81,000
3) g Besmosnsd: (TTT) - 15,750
I ene:
1) w9 won eans: _
Rredc 4T0R7: 4 1,56,750
esrineesg ATOATD (RoF030) - 22,500
W van DepFrad TRREN - 7,500
2) WY euned:
TR (RTRED) -- 37,500
woeE :@omﬁ (FOreosd) -- 22,500
Snmd &2 ﬁﬁdii AR (239,08 ée.:,) - 15,000

BED DBYIR AoWeHAT wm;sﬁriw :
wed:l Jetbeoommest: 7500 Bedorisd T3 edrt cr. 20

T038 TREFIZOTOD 1,50,000
uZed2 TR D W) Wy WP VY ' 2250

eSTHZ JOFBIT DO 5250

ey &2 (88:F) 7500
u33:3 w0 v FeEmoEn: Deparad Mo '

6% @iorond | 45,000

8% @esoudnisd ‘ 30,000

Ty deos Porrish : 6,000
RN 81,000

ed
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uDrsd foedc AToyTie:

B 60,000

oo risd 90,000

&erdnemsoearish ' 6,750
LD, ' W

B et ILAT DI0BWORD o030 FoTAC0 TR FOTIEE), AeITONGS. 0%
O0KdE' AW WadweT Daveda® [[OR Doed NOLRBIODNT, ERELD 2, B0des
BOTRCL O BERIONIY 3??553&@9’35& FTooMR +0OTRT 50““53&13 6% @aﬁowc‘ﬁfém
Be. 10% w&bcmoﬁ 'Qjénoﬁcb a‘ba’o 8% ézﬁoz&c‘ﬁ#ﬁo Soowd voTncdh 9% ﬁra,o
_@ﬁowdﬁ@dm e, 10% dmo &,e000a0* 1 Tomeadd nmam:o BT 230020 BOTVEIN
pelovelntel sowzoﬁ =8 a?eaﬁ te. 10 Tod Sncd Tre de@ededd TR =o%RT FoTIOH
QTR Jeoner =ozd FoTROL Wardd z‘s’edr‘\'e.’fafgl Qeddesd. @@ JedT @S de. 10 Sod
=lnle] BRTOTE, WS Te. 12 003 UG Jerdxsw.

WOCRT BoTeD P (Realisation Alc) Snoots 253, Fedomds o (Shareholdcrs
Alc) B> DOD [RAT FoTIOD 333371%#50 30c0D. @3 DOeO ForTmSod o0
3920, (0DeIBTLIT 0D Ndmwmﬂd)
9. The following is the Balance Sheet of Godhavari Ltd. on 31-3-2018:
Particulars Note No. Amt (Rs.)
I Equity and Liabilities:
Shareholders fund:

Share capital 1 6,25,000
Reserve and Surplus 2 (-) 72,500
Current liabilities: '
Trade payables (creditors) - 15,000
Other liabilities (Bank overdraft) - 10,000
- Total 5,77,500
II. Assets:
Non-current Assets
Tangible Fixed assets: 3 86,500
Intangible Fixed assets (patents) -- 4,25,000
Current Assets:
Inventories (Stock) -- 27,500
Trade Receivable (Debtors) -- 38,250
Cash and Cash equivalents (cash) -~ 250
Total W

[P.T.O.
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Notes:

Note No. 1 Share Capital:
Subscribed and paid up : _ _
3750 Preference shares of Rs.100 each 3,75,000

2500 Equity shares of Rs.100 each 2,50,000
Total _ 6,25,000
Note No. 2 |

Reserve and Surplus:
Discount on Issue of Shares ) 9,000

Debit Balance of P&L Afc (- 57,500
Preliminary expenses | ) 6,0(')().-
Total - | (-) 72,500

Note No.3 | |

Tangible Fixed assets:

Lease hold premises . 65,400

Plant and Machinery | 21,'100'.
Total 86,500

The Company suffered heavy losses and was not gettmg well The followmg scheme
of reconstruction was adopted.

1) The preference shares be reduced to an cqlial number of ﬁllly paid shéres of
Rs.50 each.

2) The equity shares be reduced to an equal number of fully pald shares of Rs 25
each.

3) The amount so available be used to write off Rs.15, 400/- of leasehold premises,

Rs.7,500/- off stock, 20% of plant and machmery and sundry debtors and -

balance available of patents.

Journalise the transactions and prepare the Balance Sheet after thc reconstructlon,
has been carried out. : :
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Reegosd Robaod 31-3-2018 S e Bl 3 WNTF WIS,
uH "o, w3 (Ow.)

omones |
L B wommd W) wERON:
- Beth woBmPIRTC Bee:
Bed> woEwY
5 Torie oy
wd umza:gpﬁm:
ERBUET 2,TO W (FTTT)
=t te] aimﬁmaﬁﬁ%b(msoﬁﬁ Tow)
R '
IL ESRTIE0:
WO oNYT BANL
rredc ﬁaﬁ%
| esrtenis ST, TITO)
W SAN: |
- TR (ROBNE0)
wOsY a,TO L) (MOMRTD)
I Do [T ARPR(ND)
)
3T edriso:
ésadﬂsia 1 Bead wordswd:
_ﬁw‘m&&ga DR 3B wormS
3750 =m3x, Jecoriso de.100 To3
2500 mans, Sedborisd t.100 Jo3
wTed 2 20 R3 ooy
Begd 1wEdREoHE, Roed
otd-TE, a3 (Bed W OF)
| TICERD D
. g,
'é.%a_.’ésé: 3  rieeud ?%d SAN:
rtesd RODOTD T
WIS Sy o,
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(2]

6,25,000
(-) 72,500

15,000
10,000

3,77,500

86,500
4,25,000

27,500

38,250

250
5.77,500

3,75,000
2,50,000

6,25,000

(-) 9,000
(-) 57,500
(-) 6,000

(-) 72,500

65,400
21,100

86,500




36423/D230 (12) MBI RO AR A

0THOR0 QT TIPHRE, TRCHR, LTWPATY, BT WEDRELWS SCHLIBLY;
PR PeTT CdpesSod) BYRBERIREY, B FINTOZ WBLRNT. -
1) 2,37, Sedbnday de. 50 § @0A Fer XotwoDd SedonPord JONEIRTBNT.

2)  moRS, gedonemy, dwe. 25 3 aPReRNT. @déa TRF ROTRODT JeToNPoTd
BONeIReRNG.

3)  s0edT B3,c000TRN VR @INTT BROOT BIVODT 39T LSNPS T 7ierd

R BB Or. 15,400/~ de. 7,500/~ & DomRBE, Be. 20% T, TS0

RZY 030083, CBOLIN0E 0B FOTWTDT BRWRD Tt F0IT PUPOINE BEFDAY,
A, ATTOTY, @R RRTRLD SUTOIRENTITT.

a&:waﬁséﬁod DT FRITO  C3REBIODTY, HOBORITORPTRTOZ FoIoD WRFLY,
drew) TRNSEHRY WD SR B ©3,IoDIY, FTo ATARVAD.

'10. H Ltd. purchased 8,000 shares of Rs.10 each fully paid in the S Ltd for Rs.20 each
on 1-10-2017. At the time of purchase of shares, buildings of S Ltd. were under
valued by Rs.20,000/- .

The following were the Balance Sheet of both the companies as on 31-3-2018.
Particulars Note H Ltd. S Ltd.

. Equity and Liabilities
1.  Shareholders Fund

e

Share capital 1 2,00.000 1,00,000
Reserve and Surplus 2 1,20,000 60,000
2. Current liabilities: '
Trade payables:
Creditors . - 30,000 40,000
Total: 3,50,000 2,00,000
II  Assets:
1.  Non-current Assets:
Tangible Fixed assets 3 60,000 74,000
Non-current Investment 4 1,60,000 -~
2.  Current Assets:
Inventories (stock) | - 80,000 64,000
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Trade Receivable (Debtors) -- 36,000 50,000
~Cash and cash et;uivalents
(Cash) -- 14,000 12,000
Total " 3,50,000 2,00,000
Notes to Balance Sheet as on 31-3-2018: '
Note No.l Share capital H Ltd. S Ltd.
| Shares of Rs.10 cach 2,00,000 1,00,000
Total 2,00,000 1,00,000
Note No.2 Reserve and Surplus: _
General Reserve 40,000 30,000
Profit balance as on 1-4-2017 20,000 10,000
Profit for the year (2017-18) 60,000 20,000
Total 1,20,000 60,000
Note No.3 Tangible Fixed assets: :
Buildings ' 40,000 50,000
Machinery 20,000 24,000
60,000 74,000
Note No.4 Non-current investment:
Shares in S Ltd. | 1,60,000 -
Total _1,60,000 -

The debtors of H Lid included Rs.10,000 due from the 'S' Ltd.
Prepare the Consolidated Balance Sheet as on 31-3-2018.
'H' Sanidr'sy 'S’ ot nd), 8000 Jedones), gprer Rowoodm de. 10 god dn. 20
éﬁ 0708 1-10-2017 Towd DOeORE Feohns oed Bouyrad, 'S’ Lid @ suEndss
gn. 20,000/~ @), R WPY, SRBOND. B3 ACTER BoTING L@ BTN
(31-3-2018) 3z NS08 9.
o[Tnd uDe Roxs, H ododdm S oo
I Bedd WOBTY TR WILIONGD

], Bedbmeus Fow;

BT OB 1 2,00,000 1,00,000
weR Y D ooy 2 1,20,000 60,000
[P.T.O.
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2. ) wEamon:
BRBEIEIT T,T0 WowE)

(EOD) -~ 30,000 40,000
La; | © T350,000 . __2,00,000
I eans: ' o
. O sop wyne: | |
RIS ATOAID 3 60,000 74,000
W vgd rHozms 4 1,60,000 -
2. @0 eansd: _ o

TR (TR - 80,000 164,000

WO IO WU (WOMBD) - 36,000 50,000

Snch e RN RS (IRKO) - 14,000 12,000
WD, - -~ 773,50,000 2,00,000

31-3-2018 3 ems @387 Uk | | |
ezl Fech womawy
3,8 Seont 0n.10 | 2,00,000 1,00,000
W) 2,00,000 1,00,000
MZ2 P Bone Ty - .
R, 20 | | 40,000 30,000
oarido(0. 1-4-20178) | 20,000 10,000
I78 O3 g (2017-18) 60,000 20,000
oy | -~ T1,20,000 60,000
U3 Rendcmers ATORTR: o
sup | C 40,000 50,000
odbode,eE0t . 20,000 24,000
L, | 60,000 74,000
83584 Y eep rhosBsn: | | '

'S’ OnoiE, FeTonied . 1,60,000
2,833 : ' "1,60,000 -

[

'H Sooide's xoomosd) dr. 10,000/- 'S' dQotin® ex0on wotiedd.

31-3-2018 T 3p,eR3 3 el ©E,IoDIY, SoIRORD.
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SECTION-D
- | oot - @ |
" Compulsory - Case Study I (1x15=15)
| B30 eRabS dmab. |
11. Followmg is- the Balance Sheet of Mohan Ltd as on 31-3-2018:
' Particulars Note No. Amount -
| Rs.
L Equity and liabilities:
Shareholders Funds:

Share capital 1 5,00,000
Reserve and surplus 2 (-) 50,000
Current liabilities: |
“Trade payables {creditors) - -- ©3,50,000
R Total | 78,00,000
II.  Assets: |

Non-current assets:

Tangible Fixed Assets (Machinery) — -- 5,00,000

Intangible Fixed Assets (Goodwill) -- 1,00,000
Current assets:
. In?entbries {(stock) ' - 1,95,000
- Cash and cash equivalent (cash) -- ' 5,000
| C Total ' _8,00,000
Notes:
- Note No.1 Share Capital
50,000 equlty Shares of Rs.10 each 5,00.000
Note No 2 Reserve and Surplus:
Profit and loss Account debit balance (-) 50,000
Total m

[P.T.0.
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Draft a suitable scheme for reduction of Capital which would help the Company to
re-organise on the following lines.

i)  To write off loss balance and goodwill completely.

ii) Ta depreciate machinery by 10%

iii) To reduce the value of stock to Rs.1,45,000/-

Also give journal entry to implement the scheme and draft the Balance sheet after

reconstruction.
RreEs o002 31-3-2018 O el BT Bs FPNT0IT.
oSoried : Wl Mot De¥ (On.)
L 360> wommd Torin wmmIdnwd: _
1) 3edomous ®re 1 5,00,000
e weBmd AR Tene ooyl 2 (=) 50,000
2) ) Bemmosnd:
8REIY &3, i0 WU TTITTR) - 3,50,000
EX) 8,00,000
L ey
0 Bus sAnd
et 40 YATIH (cdoZ, Rsh) - 5,00,000
©ipedt 4T YRR (Bomesdd) -- -1,00,000
Wl eand:
R (RoRorL) -- 1,95,000
S P [rEd AR (IR - 5,000
283, 8,00,000
BTEAR: |
wa‘gdeézl Beth woBTY
50,000 msng, Jeconsd de. 10 dod 5,00,000
w@:@:z 20 Torin ooPnsh: .
ooy-3g, ad (DUFS dY) (-) 50,000 -
2L ' . (=) 50,000

2 $9NS DeAGhE), FomRah FRGUIA FECHTTLS TR o BRERPTL cdeert
c3rpeRsoddsy, CuA0. -

) B e SRy sedr BPOTRY NoFPrIN SREITIFTNI[ED.

i) odbodnemEmy Se. 10 O, 3RTRATRR.

iii) XNOBD &g SPO,BRTISI), dR. 1,45,000/- 3 29=0w30.

RezEeRRY, WORRYRLD Besons Sreed JROBISobR) XX #R0 WX B B850l
Tu3a0.
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Reg. No.

IV Semester B Com. 3 Degree Examination, September 2020
BUSINESS COMMUNICATION
(Regular & Repeater)

‘Time .'3H0urs S | B | ‘ 'M;iximumMarks:so

Instructmns to Candidates:

1) Answer all the sections accordlng to internal chmces :
0308 e.-sodaﬁﬁ# R,590 2, ;)mﬁﬁ@ﬁ HVZORD.
'2)  Due Welghtage will be given to neatoess. -
wdé’ﬁ (St Ebedvarb@do o
3) Use imaginary names and addresses, data etc. wherever necessary.
o800 08 BIW, HVIR, BI0F WD,

' SECTION - A
N . . az;wri - e s ,
1 Answer any ten of the foilovnng ' B _ | (_IOX2_=2{I)
| SnIRnY, tees cInRce BIY GIORO. |
4) What is non-verbal communication ?
| o T&3 :soﬁaai DODVER0 ?
b) What is audlence analysns ?
- B350 DFFRN Q0T 7 _
- c) _'Mentlon two negative effects of poor wnttmg skills.
. 36 L0ReATOD #950 ny @dcs.) YT o) a@n@
d) . Write two uses of choosmg nght words.
' e Bwne aoﬁoo&aommd TR woaraemdﬁﬁm uc’s’om@
¢) What are good news letters 2
O a BQ SO 7
f) Expand the following

NS wﬁﬁ%”&b Ef)ra D20,

1) C&F -ii) EO.R. iii) FOB 1v) COD
- [PT.O.
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o g) Give the meaning of statutory report.

, 'a:wsmﬁ Sonoh s 8RRD. .
h) Write two features of report
| o0 9o @ﬁsaﬁ%‘fm udoﬁ:@
i) What'is exit interview ?
DRI BoTBFE 2030 7
j)  What are job application letters ?
BOTOD 2 ﬁéﬁ@oddem 9

k) Write two principles of effective commumcatlon

3D RORBIT OB ST 0BT 29800,

1) What is an enquiry letter ?
OB T3, 0D 7
| ' SECTION - B
az,mﬁf ~ o

Ahswer any three of the following. R | (3x5=15) . :
 3ONTRYY, Bewor3 IR TaRTE GVUZORD. : o |

Explain any.five barriers to communication.

| RowEss cinade wmb wusdvEy HEON.

What is logical paragraph‘? Discuss’ the three elements of it

_ao&rs 103?1‘@5068@33 7 OYNS wwacb 0BT, amma

Briefly e_xplam the types of business report.

e 8363 =Eooa aasaaas SOORYR, TN DFOKD.

‘What are the causes of writing complaint letter ?

‘ _eﬁ%m—a ws 2TOIR sadsari%wa@ ?

You are appomted as an "Accountant in Madhurl Company Ltd Ch1kod1 Draft a
jolmng report -

Y m@a ﬁoeué'\) @ wﬁmacﬁ:@ @%ﬁodmﬁ éeaﬂ:ﬁﬁmo&ma Headn ,qfd)ij ?,.)domb '




10,

1

_' aa“n gt N0PesS HoN ©9.500. EREIFS PYING DOeOOA NETB =3

® . 36424/D240

SECTION - C o -
amﬁ-—%- L

Answer any two of the followmg C : ('inS=30)

NSV, e, canse 0B, SUBORD.

" Define communication. Explain the objéctives of Business Commumcatlon
| RoSBST Ty48, Ded. FRBS 0BG QOB EBRVR) DFORO.

What is report ? Dlscuss the importance - and I'eqUISltCS of a good report
[OD Q0B 7 =SB DT, Ty LVZED aielalev oo TINTIY, WWFR0. -

" Draft enquiry letter to Sapna Book House, Belagavi on behaif of co]lege librarian for .

purchase of B.Com course books and reply on behalf of Sapna Books House, Belagavi.

_)
T 0T T BUmO tawoﬁ 2230000, :oao BE WOT TN Fa{erantsl emédwa‘n *s

_ wc?omo

Kiran has coi‘npleted post graduation in commerce with distinction. Draft a curriculum o
vitae for the post of Finance Manager in Multi National Company '

308 wowEdh Sordey, MEPNGY, MIERET TEVOVR) Ferd X3 T TrFTO
'“amnmd w&am&eoda ﬁw&oioodde‘) BDEITORD 3, 5*:3—%6 aaciﬁ 923F TOTLICTINGS.

e:adﬁ faouo@mdoé’ em'e‘m ﬁoﬁo O éomocb Sm@r\.}@
SECTION - D
. WRN - , 7 _
Case Study - Compulsory question _-‘ - ,(1><l5=15)

P RS ¢ @D T3,

a) As a student ieader brmg the genuine problems of students to the notlc:e of
- principal by way of report. | : '
o AT ), BF . BRDOBF0LH Z;E'D&)ro rlelalevs} e 3;3.31 c“.)cm . BF ez
acbmems A% BRF m;'xb "az.saobrd O] e’dwoconozﬁ B3, IRAO.
b) ~ As a member of 1nterv1ew comrmttee list at least 10 questions to be -asked to
~ a candidate for the post.of seeretary of co- operatwe credlt soc;ety meant for
* B.com graduates. -
ToBBER RS rocf"" 0"053 oD W.50. wd@fﬁd@ﬁ ‘ad)ﬁ AHTAT WSS NOe,J’Cf '
| TODFESE oD oa;s RENYR Sesremss 8T, 10 BINISY ABTAO.

©) As a good wrlter ‘what are the 'No' rules you follow in \mtmg concise sentences.

g Tom) msoab 2IBBRCTON ""O%w TR, uzj’o:b:mri o3%ss moﬂmccs
o aosammsm ToOREED 7
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~ Reg. No.

IV Semester B. Com. 3 Degree Examination September 2020
BUSINESS STATISTICS - II
~ (Regular And Fresh)
| Paper : II

| Tiine :3 Hours‘ | - | | | _ Maximum Marks : 80
| Instructions to Candidates: | |
| 1) Uscofsimplé calculator is allowed
MO rieagedod, emwodxamwm ﬁnﬁ aﬁmcﬁmﬁd
,2)‘ Statlstlcal tables will be supphed on request.
AR08 TSR, RRE0TAD R RBRDBED.

SECTION - A
gt - &
1.  Answer any Ten of the following. o - - (10x2=20)

B ﬁﬁdﬁzﬂ@d =3¢ YUBORO.
a) Deﬁne'3-B-inori;1ial .djstributioﬂ._ .
Qza‘ciraeg DITR .mé%- 200,
b) 'S'pe:cify the '.eond_iti.(:)'-n' th.a't binoﬁiial distributior_x teeds to peisson distribution.
omw '?Oé,odqﬁﬁcﬁ -doedﬁ (AEY aédﬁé’a‘m ﬁ_pema‘. aédﬁe&bh' ﬁad@rﬁ@%@m. '
c) | St.and'ard &e;fi.at'ien of poisson ciistribﬁtion is 4. Finel .its mean 'a;ed variance.

e,,_,;aw e:)écisaod) St DS 4 BT ©Ed FoAR0 8 &)weﬁ St |
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d)

g

'h.)

™

e

State the mean and standard deviation of SNV.
SOl TaRRnR, WOBE AOUHD FoR) SRSE DuUSURy BeOD.

What is Scatter diagram ?

BoBDED 33, womEBeDd ?

State the, propcrtiés of correlation coefficient.

RBIOWOG TOBOOER TOGDFNRTRY Bewd.

If Zd® =0 What is the Valqe' of Sp'carrhan's Rank Correlation-;._ '

N = &08 AODUTE Feed TEROWOFE BS @) 7
Given bxy = —0.49-and byx = —0.81, then ﬁnd__the'cofrelatibh'coeﬂi'c'ient.' o
 bxy = ~049 @) byx = ~0.81 vy dewr, AEROWOT THROOY BoRERAD. -

‘Define balanced transportation problem.

Adoess TomoNE B0 w5, §ea0.

Specify the methods of obtaining initial BFS in TP.

TP o GdouE Brerledd oy BOBTHVR, BELAMNT DPSIvRy B0,

Mel;tion any two uses of SQC.

Write the different types of control chart for attributes.

_rbtaz;fmé'ri@mn- K)Od)o:_a’)éé z&%ﬁ@,sﬁv@aqs @@dﬁ#ﬁg{ EJ@OED@ '. I
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'SECTION - B

.52;1311 - W,

o ..j{_nsﬁer aliy Three of the following. | o (3x5=15)

NS Pems =008, 30D,

| .Fot a .b_inzomial‘ ,distributio_n if mean = 3 and variance = 2, then 'ﬁnd_ P[x=1] .

| nom QEidec 230N AORO = 3 Tk @R = 2 UNGY, Plx=1] O wdodi
 somdbamD. | o

Ina po.iéson_ &isﬁibutiog if P[x=1] = P[x=2], find P[x~0]

B e ésacsz%om;;, P[x=_.i] =.P[x~—'—2] -ta;gaP[x=0] 3 zsesoiasgl B0RBKBOWD.
-~ Write the properties of normal disu-i'butioh.. |
@ magj 20 msgqsmmga's; 230800,

Fmd theSpearman's rank correlation ,coeﬁicient.' for the following data.

B R, T AbURR'S 608 A@H0NOT MOmIONERY, SomR0D.

~ [Age of husband = [30 |28 [29 [34 [36 |35

|Age of wife : |23 |24 |25 [28 |30 [32

[p.r.'o.' |
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6.

Ten samples of size 50 each were 1nspected and the number of defeet1ves mn each of

- them were as follows.

20w Rogeh TS 500 B AIFE BeeRnrwn Hoesacrt Boeand Hox, S5 SRS,

| Sample No.: 1231415161789 110

Z’Otﬁéﬁrﬁ ' ?\:‘0&25

| Gremny Hosy

Number of defectives: | 0 210311 .2 3101 L 2 1

Obtain the control limits for np-chart.

20003 G0 np - D DT, IR FOBRBCD.

. SECTION - C_
azpaﬁ - g
Answer any Two of the followmg ; ' B (2x15=30) _

_ 79N zSeaacs ada!i eUZORD. |

a) Deﬁne poisson dlstnbutlon write any three propertles of p01sson distribution.
- Dpemen® HITHOD 79,85, ?Em@a. T8 Sed rOEGWOF YR WBoWY.

b) Ina college 30% ef students are giﬂs. In a rahdom. eampie of 5 students, find

o the probablhty that (i) 2 are glrls (11) at least one glrl

' -uocﬂa a&amam @o:ocs@ 30% o, @Fﬁ@é& ao&:%?oi:do %zdoaad 5 am @rmfo
| eﬁ%ﬁ 2015%5:—‘6:5@

ORI m&m N~ @rﬁe;o

(i) - 905, tey, Dl TR,BF Ee0OUR FoPSRDERY, ROBBED.




_8'.‘ a)

b)

AN . - 3eoemae

Define normal distribution. State its mean and variance. -

\Bmmtng, DI0H0 WA, #080 e SO0 RooR0 gy DroRURy Feoo,

The average Weekly wages of 10 000 workers in a factory 18 Rs.750 with SD

Rs.20 usmg ‘normal dlstrlbutmn esﬂmate ‘the -

(i) number of workers whose wage'-will be more than Rs.775.

- .(G1) Percentage of workers havmg wage between Rs. 730 and Rs.780.

20T eaamraiodae‘) 10,000 3oxmgs dOW@ dp. 750 &) m:m azseﬁ gdn.
_ 20 Cad w"‘bﬁ)@ﬁ &359@01353 0T oiram~ :

o 5. 775 o3 Fe, o SARRIS Ross,.

(ii) d:a 730 abaa dr. 780 &,qjﬁ Now’é *do&nﬁﬁd éo»mdd é’ﬁwﬁa‘b
ﬁozﬁaao@oma

Explain North-west comer rule method of solving TP.

TwEdE R, odom BT G033 - BB Ted Db "’cﬁaoi:ai) LFORO.
Solve the following TP by matrix minimam method, '
39AT moniedd ab" cRY, BRI E - B, DT B0awezd wad.

- Origins : Destlnatlons _ . -1 Availability -
Bwporid | Aedeems e o3
D, D, D, D, |
0, 3 3 i I 100
0, a2 ]4 |2 | 125
‘o, |t s |3 2 | 75
_Reqmrement 120 |80 [ 75 | 25 | 300
PO R R o T

PTO.
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10. - a) Explam the constructlon of C chart o
L C - u3en cusay DEHOND. | S
by Construct X ~chart and R-chart for the followmg data ancl state your conclusron o
Here the size of sample B 5. ST e
ons e X - wges o R - zsswasmm dzénaa m zaag asaroimab '
- S0, f&@ e’odeﬁrﬁ s, 5 fadosd LT e e
Sample” No Tv ]2 13 |4 |35 6 [ 71 89 10
Mean T 43 . 49 [ 37 _.44. 45 37 - 37 46 43 37| B
_..Note Forn—‘S A2=058 D, =O D, —212

- ,u.raaiﬁ n—5 escmﬁA'z—OSS D —0 D, —212

SECTION 1) | |
| _ azpari Q L3 -'- . ) |
11. Case Study analySIS (Compulsory) | _':'  ' " (1X15=15)
, wsdsa edccbs é:)éf (ﬁcaaod: wg) S T e
The followmg data is thc advertlsement cosf and sales of a éompaﬁy

- _auocb 60wao:b wzsad a)zé’oe-' abso MUaasﬁe,}ab és ﬁ%ﬁﬁ i@wwhcﬁ

[sdvertsement con T35 Jes Jez [o0 [82 |75 25 TREE ]
Sales (Rs. Crores) | 47 |53 |58 |86 |62 |68 | 60 |o1 |51 |84 |

| Snoees (Beess To.)




'You are a stat:tsﬁcmn Admmlstratlve ofﬁeer of a company exp.ects some mferences
_H;-fromyou I o |
o L _:.;ﬁae@ ~oa5a emn: z-:,ocd) e:rzseea@eooom aa.g,ocs sbé’e cdbcfn eﬁeﬁfoego; o
| - a) Indlcatlon of relatlonshlp between advertlsement cost and sales |

Ers S ey Smoae emm Aowog.
B b) Usmg regressmn lmes estlmate
- aoo?s@aa deaimfab emwodoem
(1) The sales of the company when advemsement cost is Rs 50 lakhs
aoaaa)ocb e.qza'ad ﬁ?s dxa 50 e)smfadd’ ?mcmsaia*b e;aomzsn:@

N (u) The advertlsement cost of the company when sales is Rs 80 crores

eoeaaofo maoaés c’u’a 80 &raeasmodd, @_J)zsad ;DzSFm e:aomzsroo
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ch No.

1V Semester B.Com.2/B. Com.3 Degree Examination, Sep_teniber -2020
' COMPUTER APPLICATION IN BUSINESS-II |
o (Regular/Repeater)
Time : 3 Hours B '~ MaximumMarks : 80
Instructions to Candidates:

-1 All Sections are Compulsory, Subject to mtemal chmce
2. Sectlon D is Compulsory. :

SECTION -A
L Answer any ten questions. Each question carries 2 marks. ‘ (1022=20) _
1.  What doyou mean by programming? o |
’ State any two advantages of flowchart.
List the arithmetic operotoré used 'in. ‘C’ Language.
Give the syntax of scanf( ) statement.
Whatis variable? Give example.
Fxpand ISDN and TCP/IP.
What is mternet protocol‘? |

* Define corporatc bankin g.

-~ R T~ Y R N

'Wnte the purpose of OCR with respect to internct b‘émking.‘ _

ja—y
S

What is E—advertising‘?

[
[
.

What is meant by web based marketmg‘7

="
[

. .'Llstthe4p 5.

| | SECTION -B
L Answerany threo questions. Each c_axﬁes five marks. - (3x5=15)
13, Whatis algorithm? Mention ifs features. | |

14. Writea *C’ progra_m to check the given value is positive or negative. o P'_T'O' -
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15. Describe requirements to connect internet to a personal computer.

16. List any five drawbacks of internet banking.

17. Explain the advantages of web based mérkéti_ng.

SECTION -C

Il Answer any two questions. Each carries 15 marks . - (2x15=30)

18. Explain different decision making statements used in ‘C’ with syntax and example.

- 19. Discuss in detail the services provided by internet.

20. Define SCM. Discuss the obj ectives _arid characteriStics of supp.ly chain management. -

21; Write short notes on:

a) - Web browsers
b) RIGS.
c) Soc.ial media marketing :
o SECTION -D |
Iv. Compulsory qﬁesﬁon (Case Study): R . (1x15=15)

22. Newton Credit Co-operative Society invites you to write a ‘C’ program to-.generate
' their FD Certificate on the basis of following interest chart. : |

a)

.‘b) _

<)

qd

If duration above or equals 5 years, then the rate of interest is 8.5%.
If duration above or. equals 3 years, then the rate of inter’ést is 7.5%.
If duration above or eqﬁals 1 year, then the rate of interestis 7.0%. -

If duration below 1 year, then the rate of interest is 6.5%.

Input account holder Name, Account No., FD-amount, duration and calculate the simple
interest and maturity amount. Print the FD Certificate with all details.




